Hydrocarbon

ALLEN®
HYDROCARBON
1. f=faRed sfafea &1 9= S@E © O
CH,CH,CH=CH %
(1) CH,CH,CH=CH-CHO sififeran & forg aﬁﬁ?ﬁﬂ‘?ﬁ )'A' der Rerfa &
(2) CH.CH,C=CH, AERUEIE
no (1) A = HCI ; sieig AlCl,
(3) CH,CH,CH,CH,CHO (2) A = HCI ; ZnCl,
(4) CH,CH,CH,CHO 3)A=Cl,; UV Yl
2. & RN affpar @ frg A @ ® P (4) A =Cl,; 3R, el AICKL
1. NaNH UPh IRIAW EgSIdied X, NS 3fqged IR
HC==CHBr - > (A) - -
éH 2. Red hot iron tube , 873 K (F&A 3CIR) A T B e A @1 sHEIfTed Rica
3
IS¢ d G TH B GRG0V Fell &1 Jdg
(1) CH;CH,CH,NH,  (2) ?H=CH—NH2 %
CH, R UH IABGR ReaRk UV &9 oAl B |
H;C CH; AT ESSIPred X B
©) © @) CHC =C-CH, ¢
(R . ) cH-=<]
CH;
_ , (3) HC=C-CH,-CH;  (4) CH,~C=C—CH,4
3. fa=faRaa & 9 &9 91 foiseaR I3AIH 8 2
ffoRaa sifwfean &1 9= Sms @
(1) 1% FARTSS 21 HCl (|3H3
. conc.H, SO @J WE{
(2) KMnO, &1 381 @ fderaq CH3—$—$H—CH3 e aroms 2 3
(3) AIfeI™ qm <9 NH, CH; OH
@) 31 WU 3 3rdfha foan Yeifeafdd aR®e " CHz—?=CH—CHzCH3
H.C OH CH;
4. 20% H,PO, AN , (:H3 (:H3
358K (H@IW)
2
H,C (I H3C CH3
(CH,), COK" "B
_—>
(%A 3IS) 3) CH3\
.. C=CH—CH
SWRIFd AfAfpaet # fAffd ST "A" gen CH: 3
HBH % : CH3

node06\BOBA-BB\Kota\JEE MAIN\Jee Main-2021_Subject Topic PDF With Solution\Chemistry\Hindi\Hydrocarbon

CH;

CH, CH, CH, .
0

CH, (|:Hz (|:Hz CH,
05 a5

CH3—(|J—CH=CH2

“)
CH;

=1 4 9§ B9 @ feHe g fharEs gu
@ ARG B T H BT TE B ?

(1) Pt-C/H, (2) Na/H,

(3) Pd-C/H, (4) Zn/H,0




Hydrocarbon

ALLEN®

SOLUTION
1. Official Ans. by NTA (3)

Sol. OXO PROCESS (Hydroformylation) :

CH,-CH,-CH=CH,+CO+H, mﬁ

CHO
+
NN CHO
(Major)

2. Official Ans. by NTA (4)
Sol. CH = CHBr . € =CH

CH, CH,

Red hot iron
tube 873 K
H,C CH,
CH,

3. Official Ans. by NTA (4)
Sol. Partially deactivated palladised charcoal

(H,/pd/CaCO0,) is lindlar catalyst.
4. Official Ans. by NTA (3)

OH
20% H,PO,
Sol. ij —
E, (Saytzeff product)
Cl
Me,C-OK(Bulky base)
E,
(Hoffmann product)

5. Official Ans. by NTA (3)

Cl
Gh @
Cl

For substitution at allylic position in the given

Sol.

compound, the reagent used is Cl,/uv light.

The reaction is free radical halogenation.

UV hght

Sol.

3)

2

3

Sol.

Sol.

CH, CH, . CH
> c=cC < Ozonolysis
CH, CH,

¢

Official Ans. by NTA (3)

Ozonolysis
X) z y > (A) Amrrglonlcal Ag»Jr

Unsaturated
Hydrocarbon

silver

(Tollen's mirror

regent)
As (A) compound given positive tollen's test
hence it may consist -CHO (aldehyde group).
or it can be HCOOH

So for the given option :

CH,~CH,~C=CH-220m0ysis, oy cH COOH + HCOOH
A)
+ve tollen's
test

and for other compounds (options):
3
C O (Does not

CH3 show tollen's
Test)

CH,
\c 0 +D=o

(Both do not show
tollen's test)

! \C _ <] Ozonolysis
-

CH,-C=C-CH, %20{ ~COOH

(Does not show
tollen's test)

Official Ans. by NTA (2)

CH; CH;

+
CH;—C——CH—CH; H—> H;C—C——CH*—CHj;
few drops [

CH; OH CH;
1,2, shift of CH,
_CH;§

>C—C}k

[T
He>C =<y

Official Ans. by NTA (2)

Solution NaHj is not reducing agent
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